
6.2.68 33000000 [hlnr hhd, puhnn$nnrJ /-{hrhhuhm punrp, 40qn Nl/ qz punL\ 352 14080 40
6.2 69 33000000 rhnnnbnnrnhqnh /2hnnnhnntnhqnL, I 25 ilc 5rir Nl/ sz unqull 1,270 50800 40
6270 33000000 rhnnnhnnurhonhh urotuurur /2hnnntnnurhontr, 0.5olo 3 on/ o,t u!.pump 826 16520 20

33000000 ktnuliqlrluln /trnulfqfrlurur, N10/ o.t unqurLl 766 4150 25
6 2.72 33000000 n4 /3n4, 5olo 30 ilr Nl/ q2 22lt\ 231 34650 150

6.2.73 33000000
u1$ru-ppnrllrqn{urlhpurpprl}r hpfl tuphp, $htrnpu:ppfruru:1
utrtuhnr-hrrh rnur Annilrurnr. 25rfi Nl/ 2?i\ 194 5820 30

62.74 33000000 rhlrtBurilhn /hhhhBunihn, 25o/o 2 rIt NlO 9urnnhntfhV 1L undut 122 3660 30
6.2.75 33000000 2ppurtf$hhlr\n1 ilhplrprpurgf l q2 DUNLD 734 s1380 70
5.2.76 33000000 ll nnuil$hbhL n | /€r nnurtf$htrhh nr, I 0olo 25qn N I =A DUNLD 611 24440 40

33000000 thnnLurthLhhh4nnplnnhn 2olo 2 ilr Nl0/ uFqtuU 'r'7 r6200 600
6278 33000000 rulnpfrmrif plnnhn / l0olo 400 tir / huu 530 53000 100
5 2.79 33000000 /Uhnr-2ur4plr uqlrpn, 30 ri1 Nl/ sz 2?btl 97 970 10
6.2.80 33000000 xnnLurthhh hhnnnDrnnhn /0.5olo 5rJr N10/ q2 un{urtt ] J 42400 800
6.281 33000000 rnnUurhLh hhlnnprnnhn / 2olo2 rlr N10/ q2 unqulU 12000 500
6282 33000000 urnburBh r4pntnhlrhuln /Unburrah qnnrnhhbuur, 2o/o 15 {t lmb. 231 4620 20
6 2 8 3 33000000 ququ{hpfLf h}r4pnp1np}r4 /tlulqunlhpfrh, 2olo 2 tf1 NlO/ utquq J) 1750 50
6284 33000000 bhhurqntr(urhuhr:rhnhh),t hnnlrurrhh5tlr Nl q t uq& 990 3960 4

6.2 85 33000000 $purtffrghubtrb um1$utn, qpurilfrghatrL,
nLnrrrrrr  f lnrrrnnlr /TTn$'nrrrnLnrr hrrrDhrCr fr  Nl /

s2 urll/ur2p 2201 22010 10

6.21]6 33000000 [raurlrnr /knurhnt 960/o 250 {r/ q2 22h\ 331 115850 350
6.2.87 33000000 tnhnnurLurthhh hhnnnprnnhn 1olo 10ilr/ q2 uh/h 4806 9612 2

6.2.88 33000000 [hLurqnb, nhurpur\ur]rh (urhrnpur\urfrh]r hfr4pnplnp[4),
Lrhmnn5nrnur 5rJr/

u\utr2]r
brunhr

681 6810 l0

6.2.89 33000000 trhurnnSmnurt /$nr-nurqht hL, / DUnlD 230 4600 20
6.2.9{) 33000000Tln{fqnh punrp mnt{r 1800 18000 10
6.2.91 33000000hnr$hrhh 2.4olo 5ilt NlO ulltrl 210 4200
6.2.92 33000000lhnruqnr 1olo hfi N10 sz uLhu 30 6300 210
6.2.93 33000000Uurqtrh Unrt$ruu 25olo 5ilt q2 ullul 50 500 10
6.2.94 33000000Qnrubhh ruhnopuhn 3olo q2 $r 120 7200 60
6.295 33000000Uhnuhrpr 2rlr N10 sz uliu; 390 1s600 40
6.296 33000000 Puhrnrlhrnruqnt htr 0. I o/o l0ml *L $t 580 l 1600 ZU

6 2 9 7 33000000lu\rultrurururqnrplurh rlur\glrhur 1,0 uFrlurq 6200 620000 100
6.298 33000000Durturuqilub utrruurnpuhtr 1,0 sz uFquq 195 19500 100
6.2.99 33000000 bttrnpunrhrnrur,tnhr npnnrlhq nr.l ut hnhu:b ur Branr- 50rir s2 2?i\ I I J > 104340 60
6.2.LW 33000000 'Ihpuurtfhtnurqnl: u.rdqmpr 85 425 5
6.2.101 33000000Luunhnnlh plnnhnh rnrbnrrB 0.9% ullqnrSu 380 19000 50

7.1 32333200Stuurqnnn uunptn trcuz qFurd s00000 500000 I

8

8.1 Urltnnrfhpbtru sz hunn 10000000 10000000 I

9 79810000 2096500
9.1 79810000 lltburhruuurLh unfnnuurtnnn ndcLulurL purnu huru 87 1305000 15000
9 2 79810000 Z4ff {upiluh uilpnr-lururnp purpu hurur 20 13000 650
9.3 79810000 Pur4rlurbp urlpnllurnnF hf {ubaf pd2\ru \urt-r puFuhg 7 ' huln 2 24000 12000
9.4 79810000 thurntnchurUurb htuuqnunlpturtr &hruranutB 7 ' hurur J 900 300

9.5 79810000
lhupnr-qp urplurh uhnnlngfrur\u:h phhnr-p;urh nhqnr-u Qur\urnp h
, t n , n , r r  h , n , , f n

cz hruu 2 1000 500

9.6 79810000
Churpnqp urplurh utnnlnq[rur\urh phtrnr-plurh nhrlururnfr4 $ur\unp
tr 3-nhurhurhrl uuhnurhnLq

C2 huln 2 10000 s000

798100009nu:hph runnnurtnnn pLrLnrrrurh &l.rurBnun 7 ' hurur J 600 200
9.8 79810000LItqh turpnnulnnn hhnurqnuntptutr dhurBnutra 7 , hrun 2 24000 12000
9.9 79810000FunrLh turnnnuurnn htururqnurnr-Bturh AhurBnrnra 7 t huln 22 1 10000 5000
9.10 798r0000Llnrurh LrhhhtruLurh hhrnuronurnr-Brurh AhuBnr-nn cz hurn z 24000 12000
9.11 79810000LlnruL rhnphrlhurlrurtr hhrnurqnrnntraluh A,hurBnr-nB I 7 t huln 2 10000 5000
9.12 79810001 Llnr ruh phnphrlhrulr urh hhrnurq nurntral urh AhurBnr-n B 2 huln 2 24000 12000
9.13 79809999 Inuruthrurhurrhh qhnp hnru lrurqilnil /lrunrlurb/ 100 BhnB huur 1500 75000 50
9.14 79810000 lnuruhhrurLurrhh qhnp tntur turorlnrl /lrurnr.hub/ 150 BhnB huu 1600 160000 100
9.15 79810000 InuruttrrurLurrhh qhnp hnln Lurqilnil /hurntlurE/ 200 Bhnn CZ huln 1750 175000 100
9.16 79810000 lnruutllurturrhh ohnp Lncur Luroilnrl /bu:nrlurb/ 300 nhnB CZ hunn 2800 140000 50

10 45251100 q2 I


